# Pacific Journal of Mathematics

# NOTE ON FOURIER ANALYSIS. XXXI. CESÀRO SUMMABILITY OF FOURIER SERIES

SHIGEKI YANO

Vol. 2, No. 3

March 1952

# NOTE ON FOURIER ANALYSIS XXXI: CESÀRO SUMMABILITY OF FOURIER SERIES

## Shigeki Yano

1. Introduction. M. Jacob [1] proved that if the series

$$\sum_{n=1}^{\infty} \left(a_n^2 + b_n^2\right) n^{2\alpha} \qquad (0 < \alpha < 1)$$

converges then the trigonometrical series  $\sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$  is summable  $(C, -\alpha)$  almost everywhere. This result is equivalent to the proposition that if the series  $\sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$  is the Fourier series of a square-integrable function, then the series  $\sum_{n=1}^{\infty} (a_n \cos n + b_n \sin nx)n^{-\alpha}$ is summable  $(C, -\alpha)$  almost everywhere.

Considering the analogue of this theorem for integrable functions, we shall prove here the following:

THEOREM 1.1 If

(1) 
$$\frac{a_0}{2} + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) \equiv \frac{A_0(x)}{2} + \sum_{n=1}^{\infty} A_n(x)$$

is the Fourier series of an integrable function f(x), then the series

(2) 
$$a_0 + \sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx) n^{-\alpha}$$
 (0 <  $\alpha$  < 1)

and its conjugate series

(3) 
$$\sum_{n=1}^{\infty} (a_n \sin nx - b_n \cos nx) n^{-\alpha}$$

<sup>1</sup>Prof. A. Zygmund has pointed out to the author that Theorem 1 can be obtained directly from known results.

Received June 22, 1950, and, in revised form, October 20, 1951.

are summable (C,  $-\alpha$ ) almost everywhere.

2. Lemmas. For the proof we need the following lemmas.

LEMMA 1. If

(4) 
$$H_n^{(\alpha)}(x) = 1 + \sum_{n=1}^{\infty} k^{-\alpha} \cos kx, J_n^{(\alpha)}(x) = \sum_{n=1}^{\infty} k^{-\alpha} \sin kx$$
$$(0 < \alpha < 1),$$

then

(5) 
$$|H_n^{(\alpha)}(x)| \leq A_\alpha x^{\alpha^{-1}}, |J_n^{(\alpha)}(x)| \leq B_\alpha x^{\alpha^{-1}} \qquad (0 < x \leq \pi),$$

where  $A_{\alpha}$ ,  $B_{\alpha}$ , ... are constants which depend only on  $\alpha$  and which may be different in different instances.

The proof of this lemma concerning the cosine series is given by Salem and Zygmund [2], and the part concerning the sine series can be proved similarly.

LEMMA 2. If  $0 < \alpha < 1$  and

$$A_0^{(-\alpha)} = 1, \ A_n^{(-\alpha)} = \binom{n-\alpha}{n} = \frac{(-\alpha+1)(-\alpha+2)\cdots(-\alpha+n)}{n!} \quad (n \ge 1),$$

then

(6) 
$$\left| \sum_{k=0}^{n} A_{n-k}^{(-\alpha)} e^{ikx} \right| \leq C_{\alpha} \left| 1 - e^{ix} \right|^{\alpha-1}$$
  $(n = 0, 1, 2, \cdots; 0 \leq |x| \leq \pi).$ 

Lemma 2 is a well-known result of M. Riesz. (Indeed, the constant on the right side of (6) can be replaced by 2; however, the inequality in the above form can easily be derived from Lemma 1.)

Let us denote the  $(C, -\alpha)$ -means of the series (2) and (3) by  $N_n^{(\alpha)}(f; x)$  and  $\overline{N}_n^{(\alpha)}(f; x)$ , respectively. Then, setting  $k^{-\alpha} = 1$  for k = 0, we have

$$N_{n}^{(\alpha)}(f;x) = \frac{1}{A_{n}^{(-\alpha)}} \sum_{k=0}^{n} A_{n-k}^{(-\alpha)} k^{-\alpha} A_{k}(x)$$

$$= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) \frac{1}{A_n^{(-\alpha)}} \sum_{k=0}^n A_{n-k}^{(-\alpha)} \cos kt \, dt$$
$$= \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) N_n^{(\alpha)}(t) \, dt,$$

where

(7) 
$$N_n^{(\alpha)}(t) = \frac{1}{A_n^{(-\alpha)}} \sum_{k=0}^n A_{n-k}^{(-\alpha)} k^{-\alpha} \cos kt.$$

Similarly

(8) 
$$\overline{N}_{n}^{(\alpha)}(f;x) = \frac{1}{\pi} \int_{-\pi}^{\pi} f(x+t) \,\overline{N}_{n}^{(\alpha)}(t) \, dt,$$

where

(9) 
$$\overline{N}_n^{(\alpha)}(t) = \frac{1}{A_n^{(-\alpha)}} \sum_{k=1}^n A_{n-k}^{(-\alpha)} k^{-\alpha} \sin kt.$$

LEMMA 3. For  $0 < \alpha < 1$ , we have

(10) 
$$|N_n^{(a)}(t)| \leq A_a t^{a-1}, |\overline{N}_n^{(a)}(t)| \leq B_a t^{a-1} \quad (n = 0, 1, 2, \cdots; 0 \leq t \leq \pi).$$

Proof. From (7), we have

$$N_{n}^{(\alpha)}(t) = \frac{1}{A_{n}^{(-\alpha)}} \sum_{k=0}^{\lfloor n/2 \rfloor} A_{n-k}^{(-\alpha)} k^{-\alpha} \cos kt + \frac{1}{A_{n}^{(-\alpha)}} \sum_{k=\lfloor n/2 \rfloor+1}^{n} A_{n-k}^{(-\alpha)} k^{-\alpha} \cos kt$$
(11)
$$\equiv P_{n} + Q_{n},$$

say. Using Abel's transformation, we get

(12) 
$$P_n = \frac{1}{A_n^{(-\alpha)}} \left\{ \sum_{k=0}^{\lfloor n/2 \rfloor - 1} A_{n-k}^{(-\alpha-1)} H_k^{(\alpha)}(t) + A_{n-\lfloor n/2 \rfloor}^{(-\alpha)} H_{\lfloor n/2 \rfloor}^{(\alpha)}(t) \right\}.$$

By Lemma 1 we obtain

$$|P_{n}| \leq \frac{1}{A_{n}^{(-\alpha)}} \left\{ A_{\alpha} t^{\alpha-1} \sum_{k=0}^{\lfloor n/2 \rfloor -1} |A_{n-k}^{(-\alpha-1)}| + A_{\alpha} t^{\alpha-1} A_{n-\lfloor n/2 \rfloor}^{(-\alpha)} \right\}$$

$$\leq A_{\alpha} n^{\alpha} t^{\alpha-1} \left\{ \sum_{k=0}^{n} k^{-\alpha-1} + n^{-\alpha} \right\}$$

$$\leq A_{\alpha} t^{\alpha-1} .$$

Now, using Abel's transformation again, we have

$$(14) \quad Q_n = \frac{1}{A_n^{(-\alpha)}} \left\{ \sum_{k=\lfloor n/2 \rfloor+1}^{n-1} \Delta k^{-\alpha} \sum_{\substack{j=\lfloor n/2 \rfloor+1}}^k A_{n-j}^{(-\alpha)} \cos jt + n^{-\alpha} \sum_{\substack{k=\lfloor n/2 \rfloor+1}}^n A_{n-k}^{(-\alpha)} \cos kt \right\},$$

where

$$\Delta k^{-a} = k^{-a} - (k + 1)^{-a} = O(k^{-a-1}).$$

Thus

$$|Q_n| \le \frac{A_{\alpha}}{A_n^{(-\alpha)}} \max_{[n/2] + 1 \le m \le n} \left| \sum_{k=[n/2] + 1}^m A_{n-k}^{(-\alpha)} \cos kt \right| \cdot \left\{ \sum_{k=[n/2] + 1}^n k^{-\alpha - 1} \right\}$$

(15) 
$$+ n^{-a}$$

$$\leq A_{\alpha} \max_{\lfloor n/2 \rfloor + 1 \leq m \leq n} \left| \sum_{k=\lfloor n/2 \rfloor + 1}^{m} A_{n-k}^{(-\alpha)} \cos kt \right|.$$

Since

$$\sum_{k=0}^{m} A_{n-k}^{(-\alpha)} \cos kt = \Re \left\{ \sum_{k=0}^{m} A_{n-k}^{(-\alpha)} e^{-ikt} \right\} = \Re \left\{ e^{-int} \sum_{k=n-m}^{n} A_{k}^{(-\alpha)} e^{ikt} \right\},$$

we have, by Lemma 2,

(16) 
$$\left| \sum_{k=0}^{m} A_{n-k}^{(-\alpha)} \cos kt \right| \leq A_{\alpha} |1 - e^{it}|^{\alpha-1} \leq C_{\alpha} t^{\alpha-1}.$$

Therefore, from (15) and (16),

$$(17) |Q_n| \leq A_a t^{a-1}$$

Combining (11), (13), and (17), we have the first inequality of (10). The second inequality can be proved similarly.

3. Proof of Theorem 1. We proceed now to the proof of Theorem 1. From (7), we have

$$|N_n^{(\alpha)}(f;x)| \leq \frac{1}{\pi} \int_{-\pi}^{\pi} |f(x+t)| |N_n^{(\alpha)}(t)| dt.$$

By virtue of Lemma 3, we get

$$|N_n^{(\alpha)}(f;x)| \leq A_\alpha \int_{-\pi}^{\pi} |f(x+t)| |t|^{\alpha-1} dt,$$

whence

(

$$\int_{-\pi}^{\pi} \sup_{n} |N_{n}^{(\alpha)}(f;x)| dx \leq A_{\alpha} \int_{-\pi}^{\pi} dx \int_{-\pi}^{\pi} |f(x+t)| |t|^{\alpha-1} dt$$

$$\leq A_{\alpha} \int_{-\pi}^{\pi} |t|^{\alpha-1} dt \int_{-\pi}^{\pi} |f(x+t)| dt$$

$$\leq A_{\alpha} \int_{-\pi}^{\pi} |f(x)| dx.$$

Similarly we have

(19) 
$$\int_{-\pi}^{\pi} \sup |\overline{N}_{n}^{(\alpha)}(f; x)| dx \leq B_{\alpha} \int_{-\pi}^{\pi} |f(x)| dx.$$

From these maximal inequalities we can easily deduce the conclusions of Theorem 1. For example, we can proceed as follows. Let  $\epsilon > 0$  be arbitrary, and let  $f(x) = f_1(x) + f_2(x)$ , where  $f_1(x)$  is a trigonometrical polynomial and  $\int_{-\pi}^{\pi} |f_2(x)| dx < \epsilon/2A_{\alpha}$ ,  $A_{\alpha}$  being the constant which appears in the right

side of (18). By  $f^*(x)$  we denote the function defined by  $\sum_{n=0}^{\infty} A_n(x) n^{-\alpha}$  (this series converges almost everywhere); then

(20) 
$$f^*(x) = f_1^*(x) + f_2^*(x),$$

where  $f_1^*(x)$  and  $f_2^*(x)$  are determined by  $f_1(x)$  and  $f_2(x)$ , respectively, in the same way as  $f^*(x)$  is determined by f(x).

From (18) we have

(21) 
$$\int_{-\pi}^{\pi} \sup |N_n^{(\alpha)}(f_2;x)| dx \leq A_{\alpha} \int_{-\pi}^{\pi} |f_2(x)| dx < \epsilon/2,$$

and a fortiori,

(22) 
$$\int_{-\pi}^{\pi} |f_2^*(x)| \, dx < \epsilon/2.$$

From

(23) 
$$N_n^{(\alpha)}(f;x) - f^*(x) = N_n^{(\alpha)}(f_1;x) - f_1^*(x) + N_n^{(\alpha)}(f_2;x) - f_2^*(x)$$

we get

(24) 
$$\limsup_{n \to \infty} |N_n^{(\alpha)}(f,x) - f^*(x)| \leq \sup_n |N_n^{(\alpha)}(f_2;x)| + |f_2^*(x)|,$$

whence, by (21) and (22),

(25) 
$$\int_{-\pi}^{\pi} \limsup_{n \to \infty} |N_n^{(\alpha)}(f;x) - f^*(x)| dx < \epsilon/2 + \epsilon/2 = \epsilon.$$

Therefore it follows that  $N_n^{(\alpha)}(f, x) \to f^*(x)$  almost everywhere; this implies the validity of the first part of Theorem 1. The proof for conjugate series is analogous.

4. On multiple Fourier series. Theorem 1 can be extended to multiple Fourier series. For simplicity we shall state the result for the case of double Fourier series.

Let f(x, y) be an integrable function periodic with period  $2\pi$  in each variable, and let its Fourier series be

(26) 
$$f(x,y) \sim \sum_{m,n=0}^{\infty} A_{mn}(x,y),$$

where

$$A_{00}(x, y) = \frac{1}{4} a_{00}, A_{0n}(x, y) = \frac{1}{2} (a_{0n} \cos ny + b_{0n} \sin ny),$$

$$A_{m0}(x, y) = \frac{1}{2} (a_{m0} \cos mx + b_{m0} \sin mx),$$
(27)
$$A_{mn}(x, y) = a_{mn} \cos mx \cos ny + b_{mn} \cos mx \sin ny + c_{mn} \sin mx \cos ny + d_{mn} \sin mx \sin ny,$$

and

(28) 
$$a_{mn} = \frac{1}{\pi^2} \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} f(x, y) \cos mx \cos ny \, dx \, dy \quad (m, n = 0, 1, 2, \cdots),$$

and similarly for  $b_{mn}$ ,  $c_{mn}$  and  $d_{mn}$ .

We shall say that the double series  $\sum_{m,n=0}^{\infty} A_{mn}$  is summable  $(C, \alpha, \beta)$  if the  $(C, \alpha, \beta)$ -means

$$\frac{1}{A_m^{(\alpha)} A_n^{(\beta)}} \sum_{j=0}^m \sum_{k=0}^n A_{m-j}^{(\alpha)} A_{n-k}^{(\beta)} A_{jk}$$

of  $\sum A_{mn}$  converge.

Under these definitions we have:

THEOREM 2. If f(x, y) is integrable, then the series

(29) 
$$\sum_{m,n=0}^{\infty} A_{mn}(x,y) m^{-\alpha} n^{-\beta} \qquad (0 < \alpha < 1, 0 < \beta < 1)$$

is summable  $(C, -\alpha, -\beta)$  almost everywhere. A similar result holds for its conjugate series.

*Proof.* The  $(C, -\alpha, -\beta)$ -means  $N_{mn}^{(\alpha,\beta)}(f; x, y)$  of the series (29) can be written as follows:

(30) 
$$N_{mn}^{(\alpha,\beta)}(f;x,y) = \frac{1}{\pi^2} \int_{-\pi}^{\pi} \int_{-\pi}^{\pi} f(x+u,y+v) N_m^{(\alpha)}(u) N_n^{(\beta)}(v) du dv,$$

where  $N_n^{(\alpha)}(t)$  is the same as in (7). Following the line of proof of Theorem 1, we obtain the result.

5. On the capacity of sets. Generalizing a result of A. Beurling, Salem and Zygmund [2] proved the following theorem:

If the series

$$\sum_{n=1}^{\infty} \left(a_n^2 + b_n^2\right) n^{\alpha} \qquad (0 < \alpha < 1)$$

converges, then the trigonometrical series  $\sum_{n=1}^{\infty} (a_n \cos nx + b_n \sin nx)$  is convergent except possibly on a set of  $(1 - \alpha)$ —capacity zero.

We shall here prove the  $L_1$  - analogue of this theorem.

THEOREM 3. Under the same assumption as in Theorem 1, the set E of the points where the series (2) is not summable  $(C, -\alpha)$  is of  $(1 - \alpha) - capacity$  zero. A similar result hold for the conjugate series (3).

REMARKS. (a) Theorem 1 is, of course, implied by Theorem 2. (b) For the notion of capacity and other definitions, the reader is referred to the paper [2] of Salem and Zygmund.

To prove Theorem 2 we need the following lemmas.

LEMMA 4. If

$$H^{(\alpha)}(x) = \sum_{n=0}^{\infty} n^{-\alpha} \cos nx, J^{(\alpha)}(x) = \sum_{n=1}^{\infty} n^{-\alpha} \sin nx \qquad (0 < \alpha < 1),$$

then

$$H^{(a)}(x) \sim x^{a-1}, J^{(a)}(x) \sim x^{a-1}$$
  $(x \to + 0).$ 

This is known (see, for example, [3; p. 116]).

LEMMA 5. If a set E is of positive  $\alpha$ -capacity ( $0 < \alpha < 1$ ), then there exists a positive distribution  $\mu$  concentrated on E such that if the Fourier-Stielties series of  $\mu(x)$  is denoted by

$$d\mu(x) \sim \frac{1}{2\pi} + \sum_{n=1}^{\infty} (\alpha_n \cos nx + \beta_n \sin nx),$$

then the series

$$\sum_{n=1}^{\infty} (\alpha_n \cos nx + \beta_n \sin nx) n^{-1+\alpha}$$

and its conjugate series

$$\sum_{n=1}^{\infty} (\alpha_n \sin nx - \beta_n \cos nx) n^{-1+\alpha}$$

are the Fourier series of bounded functions.

Lemma 5 is due to Salem and Zygmund [2].

To prove Theorem 3, let us assume that the set E is of positive  $(1 - \alpha)$ -capacity. Then by Lemma 5 we can find a positive distribution  $\mu$  concentrated on E such that if

$$d\mu(x) \sim \frac{1}{2\pi} + \sum_{n=1}^{\infty} (\alpha_n \cos nx + \beta_n \sin nx),$$

then the series  $\sum_{n=1}^{\infty} (\alpha_n \cos nx + \beta_n \sin nx) n^{-\alpha}$  is the Fourier series of a bounded function.

Since it is easy to verify by Lemmas 1 and 4 that

(31) 
$$|N_n^{(\alpha)}(t)| \leq A t^{\alpha-1} \leq A_{\alpha} H^{(\alpha)}(t) + B_{\alpha},$$

we have, by (17),

$$(32) |N_n^{(\alpha)}(f;x)| \leq \frac{1}{\pi} \int_{-\pi}^{\pi} |f(t)| |N_n^{(\alpha)}(x-t)| dt$$
$$\leq A_\alpha \int_{-\pi}^{\pi} |f(t)| H^{(\alpha)}(x-t) dt + B_\alpha \int_{-\pi}^{\pi} |f(t)| dt.$$

Integrating both sides of (22), we have

$$\int_{0}^{2\pi} \sup_{n} |N_{n}^{(\alpha)}(f;x)| d\mu(x)$$
(33)  $\leq A_{\alpha} \int_{0}^{2\pi} d\mu(x) \int_{-\pi}^{\pi} |f(t)| H^{(\alpha)}(x-t) dt + B_{\alpha} \int_{-\pi}^{\pi} |f(t)| dt$ 
 $\leq A_{\alpha} \int_{-\pi}^{\pi} |f(t)| dt \int_{0}^{2\pi} H^{(\alpha)}(x-t) d\mu(x) + B_{\alpha} \int_{-\pi}^{\pi} |f(t)| dt$ 

By a well-known theorem, the Fourier series of

$$\frac{1}{\pi} \int_0^{2\pi} H^{(\alpha)} (x-t) d\mu(x)$$

is

$$1 + \sum_{n=1}^{\infty} (\alpha_n \cos nt + \beta_n \sin nt) n^{-\alpha},$$

which is the Fourier series of a bounded function. Hence for almost all t we have

$$|\int_0^{2\pi} H^{(\alpha)}(x-t) d\mu(x)| \leq M(\mu),$$

 $M(\mu)$  being a constant depending only on the distribution  $\mu$ . Therefore, from (33), we have

$$\int_{0}^{2\pi} \sup_{n} |N_{n}^{(\alpha)}(f;x)| d\mu(x) \leq A_{\alpha}M(\mu) \int_{-\pi}^{\pi} |f(t)| dt + B_{\alpha} \int_{-\pi}^{\pi} |f(t)| dt$$
(34)

$$\leq C_{\alpha}(\mu) \int_{-\pi}^{\pi} |f(x)| dx,$$

where  $C_{\alpha}(\mu)$  is a constant depending only on  $\alpha$  and on the distribution  $\mu$ .

Using this maximal inequality (34) and following the proof of Theorem 1, we see<sup>2</sup> that

<sup>2</sup>We must first prove that the set of points where the series  $\sum_{n=0}^{\infty} A_n(x) n^{-\alpha}$  does not converge is of  $\mu$ -measure zero. This can be done by the maximal inequality

$$\int_{0}^{2\pi} \sup_{n} |\sum_{k=0}^{n} A_{k}(x) k^{-\alpha} | d\mu(x) \leq A(\mu) \int_{-\pi}^{\pi} |f(x)| dx,$$

which is a simple consequence of (34), by the same argument as in [3, p. 254].

$$\int_0^{2\pi} \limsup_{n \to \infty} |N_n^{(\alpha)}(f, x) - f^*(x)| d\mu(x) = 0,$$

which implies that E is of  $\mu$ -measure zero, contrary to the hypothesis that  $\mu$  is concentrated on E, ( $\int_{E} d\mu(x) = 1$ ).

For the conjugate series (3) an analogous argument can be applied, and Theorem 3 is proved completely.

## References

1. M. Jacob, Über die Verallgemeinerung einiger Theoreme von Hardy in der Theorie der Fourierschen Reihen, Proc. London Math. Soc. 26 (1927), 470-492.

2. R. Salem, and A. Zygmund, *Capacity of sets and Fourier series*, Trans. Amer. Math. Soc. 59 (1946), 23-41.

3. A. Zygmund, Theory of trigonometrical series, Warsaw, 1935.

MATHEMATICAL INSTITUTE, Tokyo Metropolitan University.

## PACIFIC JOURNAL OF MATHEMATICS

### EDITORS

R. M. ROBINSON

University of California Berkeley 4, California \*R. P. DILWORTH

California Institute of Technology Pasadena 4, California

E. F. BECKENBACH, Managing Editor

University of California Los Angeles 24, California

\*During the absence of Herbert Busemann in 1952.

#### ASSOCIATE EDITORS

R. P. DILWORTH	P. R. HALMOS	BØRGE JESSEN	J. J. STOKER
HERBERT FEDERER	HEINZ HOPF	PAUL LÉVY	E. G. STRAUS
MARSHALL HALL	R. D. JAMES	GEORGE PÓLYA	KÔSAKU YOSIDA

#### SPONSORS

UNIVERSITY OF BRITISH COLUMBIA	UNIVERSITY OF SOUTHERN CALIFORNIA
CALIFORNIA INSTITUTE OF TECHNOLOGY	STANFORD UNIVERSITY
UNIVERSITY OF CALIFORNIA, BERKELEY	WASHINGTON STATE COLLEGE
UNIVERSITY OF CALIFORNIA, DAVIS	UNIVERSITY OF WASHINGTON
UNIVERSITY OF CALIFORNIA, LOS ANGELES	• • •
UNIVERSITY OF CALIFORNIA, SANTA BARBARA	AMERICAN MATHEMATICAL SOCIETY
OREGON STATE COLLEGE	NATIONAL BUREAU OF STANDARDS,
UNIVERSITY OF OREGON	INSTITUTE FOR NUMERICAL ANALYSIS

Mathematical papers intended for publication in the *Pacific Journal of Mathematics* should be typewritten (double spaced), and the author should keep a complete copy. Manuscripts may be sent to any of the editors. All other communications to the editors should be addressed to the managing editor, E. F. Beckenbach, at the address given above.

Authors are entitled to receive 100 free reprints of their published papers and may obtain additional copies at cost.

The Pacific Journal of Mathematics is published quarterly, in March, June, September, and December, by the University of California, Berkeley 4, California. The price per volume (4 numbers) is \$8.00; single issues, \$2.50. Special price to individual faculty members of supporting institutions and to individual members of the American Mathematical Society: \$4.00 per volume; single issues, \$1.25.

Subscriptions, orders for back numbers, and changes of address should be sent to the publishers, University of California Press, Berkeley 4, California.

Printed at Ann Arbor, Michigan. Entered as second class matter at the Post Office, Berkeley, California.

UNIVERSITY OF CALIFORNIA PRESS . BERKELEY AND LOS ANGELES

COPYRIGHT 1952 BY PACIFIC JOURNAL OF MATHEMATICS

# Pacific Journal of Mathematics Vol. 2, No. 3 March, 1952

Lars V. Ahlfors, <i>Remarks on the Neumann-Poincaré integral equation</i>	271
Leonard P. Burton, Oscillation theorems for the solutions of linear,	
nonhomogeneous, second-order differential systems	281
Paul Civin, <i>Multiplicative closure and the Walsh functions</i>	291
James Michael Gardner Fell and Alfred Tarski, On algebras whose factor	207
algebras are Boolean	297
Paul Joseph Kelly and Lowell J. Paige, <i>Symmetric perpendicularity in</i> <i>Hilbert geometries</i>	319
G Kurena On a characteristic property of finite sets	323
Ioseph Lehner A diophantine property of the Fuchsian groups	327
Donald Alan Norton Groups of orthogonal row-latin squares	335
<b>R</b> S Phillips On the generation of semigroups of linear operators	343
G. Piranian, Uniformly accessible Jordan curves through large sets of	545
relative harmonic measure zero	371
C. T. Rajagopal, Note on some Tauberian theorems of O. SzÃ;sz	377
Halsey Lawrence Royden, Jr., A modification of the Neumann-Poincaré	
method for multiply connected regions	385
George H. Seifert, A third order irregular boundary value problem and the	
associated series	395
Herbert E. Vaughan, Well-ordered subsets and maximal members of ordered	
sets	407
Hans F. Weinberger, An optimum problem in the Weinstein method for	
eigenvalues	413
Shigeki Yano, Note on Fourier analysis. XXXI. Cesàro sunmability of	
Fourier series	419